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PEIGMEERT U A b (BEAR)

TH4 R 7#+t HBILAEIRE 20 - Pl SRR R T
Hffiz— K Z Bl HLAL Hoe il P

001110001 FEENFEAEME D)) vy VR ] 2kVA H 4,742 2, 741
001130001 FITV=s)v=y LIl EARAEY 77 5] 4.9t A 6 194, 400
000202142 Ny IEg (e—580) [REERY ] BEDT AkE R (201448 83H0)  1LFHO. 8m3 (R RE! 0. 006 132
M000301005 VAZA VAR i S AP A 10t Ak AR 0. 069 1,412
M000903010 )N =R 7 BNy BREE - 7T 0] JERLHES) 90~110m3/h AR 1.15 60, 701
M002083002 EE VA d N} N&HITEES) ¢ 38~40mm A 5. 649 1, 506

ARl 260, 892
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H iz 8 ) BT 175%90%5+8 & T 1
E W% B = t 0. 40
$ % iR Y MF  333+451+5 LSPOAR! L jo 0 BRI
E W% B = t 2.69
H iz 8 ) B 200%200%8*12 T 31
E W% E =2 T/ L-ILER t 2.99
8 X #k Y] By 250%36%5, LSP1H! & T 245 I;?(t)m;kﬁ%mm
E W% E =2 T/ L-ILER t 6. 63
AR S5y THnE AE—H2 t 12. 71
R

15& LR m 18.17
S R IR S /L m3 67.7 Lobsm L36n
it B —REEY, BHEEY m?2 135.3
= L 7 SD345,D19 t 0.21
Al .. D19A, L=300 & T 157 EgN< FYIL
K 3k /N A4 T VP65 m 26.0
Z 5 Fryybor—7 m 78.7
F v E ¥ 4 ts1maryy—+ m2 1.7
a2y ) — hERnE m3 0.8
B Hh M ITSREA b, t=10mm m2 6.8

255 LR m 35.8

o ck=18N/mm2, £& 55 #&:&E 4 EEEEIEE

a Yy ) — b RUTEITHE m3 24.7|L=65m
it B —REEY BHEEY m?2 61.6
= L 7 SD345,D19 t 0.1
Al .. D19A, L=300 & T 12 BE/NU< FYIL
K R /X 4 T VP65 m 9.7
Z 5 I Fyvbkor—7 m 35.8
F v E Y 4 ts10ma>yy—+ m2 28.6
a2y ) — hERnE m3 0.3
B Hh M ITSREA b, t=10mm m2 2.5




o ck=18N/mm2, EfAIEEY

a3 v 2 ) — b RUOTEHEITHE m3 0.3
i) B —RRIEBEY, BHEEY m?2 0.5
AV Y—bREL  EFHEEY m3 0.3
Ay ) —rEnE m3 0.3
ERMHET
i K X H=1.5m H150%150%7%10-2350 & 12
F M X #  H=1.5m, H200%100%5. 5+8-2350 PN 26
E @ X #  H=1.5m H175%175%7.5%11-2350 K 4
B & X #  H=1.5m H200%200%8%12-2350 A 4
B & X #  H=1.5m H250%250%9%14-2600 A 1
WO B R SRR B0 & 2
A—J&MBE BREEFMTE m 107.5
E W% B B  E/L—ILERK t 5.54 X4k, #@0—7
R & I
B®oOof ® OFE 30" K m 90
T/ L—ILEHEBE  HEHS00ke 30° Kik m 90




H 2 SR Y B (175%90%5%8)
N=11

EiREE
L=11%2.0
W=22.0%18.0

& AR DT (333%x51%5, LSP3AZY)
N=10x2x5

EiREE
L=30. 0%b
W=150. 0%17.9

H 2 SR T (200%200%8+12)
N=11+20

EBWEE (T/ L—ILER)
L=(11+20)*2. 0
W=60. 0%49. 9

8 2% AR L B (250%36%5, LSP12Y)
N=(10+15) %27

EBWEE (T/ L—ILER)
L=(30. 0+43. 4)*7.0
W=513. 8x12. 9

22.00 m
396 kg

100 T

150.00 m
2,685 kg

62.00 m
2,994 k g

350 &R

513.80 m
6,628 k g




ETER
L=30. 3+31.4+17.0 = 78.70 m

a4 1) — bk (ock=18N/mm2, & EY)

V1=0.86«78.70 e PERETE IR & DEEIER = 67.68
V2=-1.000%0. 010%1. 0001 = -0. 01
=) & 67.67 m3

B (—REEY. BHEEY)

A1=1.72%78.70 = 135. 36
A2=-(0.010+0.010)*1. 0001~ «---- E L EEER = -0.02
a &t 135.34 m2

# L #5 (SD345, D19)
W=2.70%78. 70 = 212 kg

BI7L (D197, L=300) BEI/N\L T KL

N=2. 00%78. 70 = 157 &R
IKik/ 84 T (VP65)
L=0. 33%78. 70 = 25.97 m

RIGFT(Fxy boxr—7)
L=1.00%78. 70 = 78.70 m

F v E > (t=10mm)
A1=1.000%78. 70 = 78.70
A2=-1.000%1.000%1 ... MR AR ) i L ER4ERR = -1.00
a H 71.70 m2




avy)— e
V=T7.70%0. 01 = 0.78 m3

Bitaf (TS5 X2 A bk, t=10mm)
A=67.67%1/10 = 6.77 m2
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1500

avyy—=+

o ck=18N/mm2 -
KipERq4 7 1
VP65, ctc3000 N

Nl

o) BREREERG

300 | 300
1

BEERFvELY
t=10mmi2E

ELH SOU5D19
=600, ctc500

Y w.\@k‘ﬁ‘g&

a4 1) — bk (ock=18N/mm2, &EFHHEEY)
V=1. 00 (0. 850+0. 010) = 0.86 m3

B (—RREEY, BHEEY)
A=(0. 850+0. 010) *2 = 1.72 m2

# L #5 (SD345, D19)
W= (1. 000/0. 500) *0. 600*2. 25 = 2.70 kg

HI7L (D19F3, L=300) BEIN\L T KL
N=1.000/0. 500 _ 2

IKik/ 84 T (VP65)
L=(1.000/3. 000) *1. 000 = 0.33 m




RIFT(Fry boxr—7)
L=1.000 = 1.00 m

F v E 2 (t=10mm)
A=1.000%1. 000 = 1.00 m2

Bitaf (TS5 X2 A b+, t=10mm)
A=a25)—rEx*1/10 = 0.086 m2




ETER
L=35.8 = 35.80 m

a4 1) — bk (ock=18N/mm2, & EY)

V1=0. 69%35. 8 = 24.70
V2=-0. 800*%0. 010%1. 000%2 ~  «---- PERETE IR & DEEIZERR = -0.02
=) & 24.68 m3

B (—REEY. BHEEY)

A1=1.72%35. 8 = 61.58
A2=—-(0.010+0.010)*1. 000%x2 ~  «---- Rl _E EE R = -0.04
=) & 61.54 m?2

# L #5 (SD345, D19)
W=2. 70x35. 8 = 97 kg

BI7L (D197, L=300) BEI/N\L T KL

N=2. 00%35. 8 = 12 &P
IKik/ 84 T (VP65)
L=0.27%35. 8 = 9.67 m

RIGFT(Fxy boxr—7)
L=1.00%35. 8 = 35.80 m

F v E > (t=10mm)
A1=0. 800%35. 8 = 28. 64
A2=-0.800%1.000%2 ~  eeeee MR AR ) i L ER4ERR = -1.60
a H 27.04 m2




avy)— e
V=28. 64*0. 01 = 0.29 m3

Bitaf (TS5 X2 A bk, t=10mm)
A=24.70%1/10 = 2.47 m2
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1500

avyl)—=+
o ck=18N/mm2

KifE/4 T
VP65, ctc3000

850

o MR

|.300 | 300
1

BEEFvELY
t=10miZE
ELH SD345,D19.
=600, ctc500

q \1@3“\8:&
Y

a4 1) — bk (ock=18N/mm2, &EFHHEEY)
V=0. 80 (0. 850+0. 010) = 0.69 m3

B (—RREEY, BHEEY)
A=(0. 850+0. 010) *2 = 1.72 m2

# L #5 (SD345, D19)
W= (1. 000/0. 500) *0. 600*2. 25 = 2.70 kg

HI7L (D19F3, L=300) BEIN\L T KL
N=1.000/0. 500 _ 2

IKik/ 84 T (VP65)
L=(1.000/3. 000) *0. 800 = 0.27 m




RIFT(Fry boxr—7)
L=1.000 = 1.00 m

F v E 2 (t=10mm)
A=0. 800*1. 000 = 0.80 m2

Bitaf (TS5 X2 A b+, t=10mm)
A=a25)—rEx*1/10 = 0.069 m2




a4 1) — bk (ock=18N/mm2, & EY)
V=0. 26

By (—REEY, BHEEY)
A=0. 52

aAVy ) —rFRYERL (BHEEY
v=0.26 aaaas :|~/7U_|“|E.|§Sl§

avy)— bRLE
V=0. 26

XELHIF, S LEBEETHLET S,

0.26 m3

0.52 m2

0.26 m3

0.26 m3




BEEEX IR 1000 PREXAE
H-200%100%5. 5+8-2350

BEExA
H250%250%9%14-2600

—
1500

850

15E L
0 ck=18N/m2 jt | BERMEERG
KifE4 T
VP65, ¢tc3000

BREXREE HUIE L-151A
0 ck=18N/mm2

850

250

ELE SI6.DI9
=600, ctc500

B, BESkiEEE A% L1218
?% o ck=18N/mm2

3000 n "

o
\

BEEXH

H-250%250%9+14-2600

7W?H\

25

500 500

1000

|

250m |

IP. 243k
HEEEER Y i L1EIR
a4 1) — b (ock=18N/mm2, #E5H#&:EY)
A1=1/2x (1. 000+ (0. 250%0. 4+1. 000) ) *0. 250
A2=1/2x (1. 000+ (0. 250%0. 4+1. 000) ) *0. 250
A3=1/2x (1. 000+ (0. 250%0. 4+1. 000) ) *0. 250

V1=1/2%(0. 263+0. 263) 0. 500+1/2x% (0. 263+0. 263) 0. 500

By (—REEY, BHEEY)

L1=(y" (172+0. 472) ) *0. 250+0. 250

L2=(y" (172+0. 472) ) *0. 250+0. 250

L3=(y" (172+0. 472) ) *0. 250+0. 250

A1=1/2%(0. 519+0. 519) 0. 500+1/2% (0. 519+0. 519) 0. 500

a9 ) — FEUEL (EGEEY)
Vi=0.26 e avy)—rEHE

0.263 m2

0.263 m2

0.263 m2

0.26 m3

0.519 m2

0.519 m2

0.519 m2

0.52 m2

0.26 m3




iR ¥ 4 (H=1. 5m, H150%150%7%10-2350)

N=2.0+2.0+8.0

rh RS2 4% (H=1. 5m, H200%100%5. 5%8-2350)
N=6.0+9.0+11.0

BB #E (H=1. 5m, H175%175%7. 5%11-2350)

N=4.0

BB 4E (H=1. 5m, H200%200%8%12-2350)

N=4.0

BB 4% (H=1. 5m, H250%250%9%14-2600)

N=1.0

N=2.0

0—J&HERE HREFMEE)
L=29. 3+30. 4+47. 8

FHEEMEMES (£ / L—ILEHS)

W1=31.1%2. 35«12 .- H150%150%7%10-2350
W2=20.9%2.35%«26 ... H200+100%5. 5%8-2350
W3=40.4%2.35«4 ... H175%175%7. 5%11-2350
W4=49.9%2. 35«4 ... H200%200%8+12-2350
Wo=71.8%2.60x1 ... H250+250%9%14-2600
W6=31. 1%2. 35%4+13. 4+3. 00x2 ~ ----- FEFRIm R 4
W7=9.6+107.5 e & - Ja4vn—7J
W8=13.4%2.197%32 ----- C125%65%6-2197

K AIR A (C125%65+6) (3, FBMERE (L=2197mm) THEHT 5,

Ykim AR 2 4E (H=1. 5m, HEY :H150%150%7x10-2350, i&# : 2-C125%65%6-3000)

op

12 K

26 &

4K

4K

1 &

2 &

107.5 m

871
1,277

380

469

187

373
1,032

942
5537 k g




BHRETE (30° Kid)
L=90.0 = 90.0 m

E/ L—ILEERBE FEH500kg 30° ki)
L=90. 0 = 90.0 m




BESRHEEEARE L-1R 1A

HE il H2
IP.17 147mm 315mm
IP. 18 185mm 462mm

HEEEXR R 800 b2
Fi-200+100+5, 5+8-2350
oy,
OL_(/)?
EEXA
EE%k H-250+250x9+14-2600
H250+250%914-2600
T -
! B LR o
+ g \ Yy
25 e - o8 ~
o ck=18N/mn2 # | memexs 1
° \
KifEs$1 7 i
VP65, ctc3000 I ———
B REnE LA ! = |
o ck=18N/mm2 = I
e . BB B _
g s
B, BREXHREERIE L1 1R
2 o ck=18N/mm2 500 ] 500
2 1000
£LE S0345,D19 >
=600, otc500 -

IP. 17413k
HEEEER Y i L1EIR
a4 1) — b (ock=18N/mm2, #E5H#&:EY)
A1=1/2%(0. 800+ (0. 147x0. 4+0. 800) ) 0. 147
A2=1/2%(0. 800+ (0. 250%0. 4+0. 800) ) *0. 250
A3=1/2%(0. 800+ (0. 315x0. 4+0. 800) ) *0. 315

V2=1/2% (0. 122+0. 213) *0. 500+1/2x% (0. 213+0. 272) 0. 500

By (—REEY, BHEEY)

L1=(V" (172+0.472) ) *0. 147+0. 147

L2=(y" (172+0. 472) ) *0. 250+0. 250

L3=(y" (172+0.472) ) *0. 315+0. 315

A2=1/2% (0. 305+0. 519) *0. 500+1/2% (0. 519+0. 654) 0. 500

a9 ) — FEUEL (EGEEY)
V2=0.21 e avy)—rEHE

0.122 m2

0.213 m2

0.272 m2

0.21 m3

0.305 m2

0.519 m2

0.654 m2

0.50 m2

0.21 m3




IP. 1843k
HEEEER Y i L1EIR
a4 1) — b (ock=18N/mm2, #E5H#&:EY)
A1=1/2%(0. 800+ (0. 185x0. 4+0. 800) ) *0. 185
A2=1/2%(0. 800+ (0. 250%0. 4+0. 800) ) *0. 250
A3=1/2x(0. 800+ (0. 462x0. 4+0. 800) ) 0. 462

V3=1/2% (0. 155+0. 213) *0. 500+1/2% (0. 213+0. 412) 0. 500

By (—REEY, BEEEY)

L1=(v" (172+0. 472) ) *0. 185+0. 185

L2=(y" (172+0. 472) ) *0. 250+0. 250

L3=(v" (172+0. 472) ) *0. 462+0. 462

A3=1/2% (0. 384+0. 519) 0. 500+1/2x* (0. 519+0. 960) 0. 500

a9 ) — FEEL (EGEEY)
V3=0.25 e avy)—rEHE

0. 155 m2

0.213 m2

0.412 m2

0.25m3

0.384 m2

0.519 m2

0. 960 m2

0.60 m3

0.25m3




RIgEM—%

I = £ R7KtT #ILAEN HR-fAAHE [UERBLBRENEIS
£ 5 37} % B fiI B {i & &
Bl 175%175 ¥ 84,100 8T
Bl 200%200 ¥ 98,000 T
Bl 250%250 ¥ 100,000 8T
nnE Co & m3 1,600  155kmLLTF
nnE AR5 &E = 100,000

MULTIE, k2 B MIEEL CEF EL TV a0 & 5%

HBEMBEL ORLEBD T,

E: T HE 43 SRR A 1 = 143,409
B IGER E oy 43 SRR A 1 iy 48,000




